=2|L|E| AEE:

H3EE 12 Hem
(201951 10 14 7|%)

Y

WILLBES



I
O

HE F71 & 2F 3 (2019 108 142 71F)

1o
o
R
Ay
17
=
=
ofo
)
lo

#1. E2|LE|x{Ze (HIBEH 14H)

o|0| X - 2z P
oI 2ot 2% B 2 23
A 45
1 1 X
/\1 = =] 7
A7 @ &5t MU;! T af oG~ oG METex bees Y
25 11, 1.9] -2 27 I
sy 2ot b 4 0X 0X ¥
e = S MRSG + MRSE, = MRT,, 7} =25t} = A8} 224 MA; -
X
Min(TAC,(X,)+ TAG,(X,)+ STD (X)
X Xy
uAC S 0
foc 1 yaC— 8 [g@ A 2ol 59
0. 131 \. MAC, = MAC, = SMD
=5t 34 | 1.9  Z POTEIRTT
2um| 2t At
2~3eimE Min(TAC,(X,)+ TAC,(X,)+ STD(X))
Xu' Xb
- { MAC,— SMD =0
foc \ mMaC,—SMD=0
. MAC, = MAC, = SMD
p. 199 A a3
zZx= 9 ol= 99 A7FA] ~ ol= EEH'_O‘I AI7FA] ~ (9] — ofz})
3t =
p. 364 (2) #X| #=(Ramsey rule)e| == P
Max — Min
tyty oty

=xt 2. (2)9 e
1y 2 TEB st t°PrQ+t,PyQ=R

1HW = T2



E2|LE| RHHSH mi3zt 14 HRHE(2019.10.14.71F) 3

H|0|X - sz - P
o 27} 4% A b 48 % +3LE
p. 364

SHEZOM 2 bS] (Rt 4agol ~ | & Z Al (e agel ~ LT
iy 2t ’ ’

1 =

p. 364
sxi2 el olol e AL SRR 4B~ olbel i wAh BB e (D
1 =

b. 364 FEEEA Hste] o5z A5A
Sx2.@)  FeEFAl L8] AsAlEol~ LonT ot ° Rt Z7}
ouin) = &ol~
= ~ = l - 24 43
p. 518 Q@TC=p3-X+w-b-X QTC=p-X+w b X w1,
2= @ +w-b-X, O|Ct + wy + b+ X, OICk Wy

p.518 @Oz, P - w=w- b+ 37} Zofo}

215 @ s AN v

o
il

www.hanlimgosi.co.kr



